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WORKOUT / DOUBLES DIVISION | WOMEN WOMEN PRO / MEN / MIXED A MEN PRO
SkiErg 1000 m 1000 m 1000 m

Sled Push 4x12,5m 102 kg incl. Sled | 152 kg incl. Sled 202 kg incl. Sled

Sled Pull 4x12,5m 78 kg incl. Sled 103 kg incl. Sled 153 kg inkl. Sled
Burpee Broad Jumps | 80 m B0 m 80 m

Rowing | 1000 m | 1000 m | 1000 m
Farmers Carry 200m | 2x 16kg | 2x 24kg | 2x 32kg

Lunges 100m 10 kg 20 kg 30 kg

Wall Balls | 75 reps with 4 kg | 100 reps with 6 kg 100 reps with 9 kg
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WORKOUT STATION PENALTY OVERVIEW

WORKOUT SINGLE

SkiErg Time Penalty Depending on

Violation

1) 3 Minutes per Missing Lane
2) 5 Meter® Distance Penalty

Sled Push 4x12,5m

1) 3 Minutes per Missing Lane
2) 5 Meter® Distance Penalty

Sled Pull 4x12,5m

Burpee Broad Jumps | 5 Meter® Distance Penalty

Rowing Time Penalty Depending on
Violation

Farmers Carry 200m | Time Penalty Depending on

Violation

1) 5 Meter*

2) Putting the SB Down Once:
5 Meter, Putting the SB Down
Twice: Disqualification

Lunges 100m

Wall Balls Invalid Repetition

*will be issued after a first warning

10 2|F, AAME|, +2/SL S5

DOUBLES

Time Penalty Depending on
Violation

1) 3 Minutes per Missing Lane
2) 10 Meter* Distance Penalty

1) 3 Minutes per Missing Lane
2) 10 Meter* Distance Penalty

10 Meter* Distance Penalty

Time Penalty Depending on
Violation

Time Penalty Depending on
Violation

1) 10 Meter*

2) Putting the SB Down Once:
10 Meter, Putting the SB Down
Twice: Disqualification

Invalid Repetition

235101 AIZHH 0|52 5t

Sl 8, AMIZHEE

He| H'Z2E|S

Time Penalty Depending on
Violation

1) 3 Minutes per Missing Lane
2) 5 Meter* Distance Penalty

1) 3 Minutes per Missing Lane
2) 5 Meter* Distance Penalty

5 Meter* Distance Penalty

Time Penalty Depending on
Violation

Time Penalty Depending on
Violation

1) 5 Meter*

2) Putting the SB Down Once:
5 Meter, Putting the SB Down
Twice: Disqualification

Invalid Repetition
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